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1 Question Description The double Ikat technique, where both the warp and weft yarns are dyed before weaving to create intricate patterns, is most

famously practiced in which Indian state?

A Gujarat

B Maharashtra

c Odisha

D Andhra Pradesh

E None of the above
Correct Answer A

Marks 1



Question Description Which of the following is an essential component of effective office management in a handicraft production center?

A Strict adherence to rigid hierarchies and policies

B Efficient document management and organization

c Limiting communication to email only

D Reducing the use of technology to maintain simplicity

E None of the above

Correct Answer B

Marks 1

Question Description In the context of managing handloom and handicraft production, what is the role of a supervisor in ensuring quality control?
A Enforcing strict compliance with raw material standards

B Ignoring artisans' creative inputs to focus only on production goals

c Training artisans to maintain consistent quality and overseeing production processes
D Limiting artisan feedback to maintain uniformity in products

E None of the above

Correct Answer C

Marks 1



Question Description Which weaving technique is known for its ability to produce fine, lightweight fabrics with a high degree of transparency?

A Tapestry

B Brocade

(o Dobby

o Chiffon

E None of the above

Correct Answer D

Marks 1

Question Description Which digital tool can be most beneficial for artisans in the Indian handloom and handicraft industry to improve their design skills

and reach global markets?

A Product design software (e.g., CAD)

B Television and radio programs

c Mobile phones for local communication
D Brick-and-mortar retail stores

E None of the above

Correct Answer A

Marks 1



Question Description Which of the following is a critical factor in the quality control of yarn production, ensuring that the yarn has consistent strength

and thickness throughout its length?

A Twist per inch (TPI)
B Yarn count

c Yarn tension

D Yarn evenness

E None of the above
Correct Answer D

Marks 1



Question Description What is the primary advantage of using a Jacquard loom in handloom weaving?

A Increased production speed

B Reduced labor cost

c Ability to create complex patterns

D Simplified weaving process

E None of the above

Correct Answer C

Marks 1

Question Description Which of the following is a key benefit of promoting handicrafts through public events such as fairs and exhibitions?
A The ability to increase mass production and standardization of crafts

B Raising awareness about traditional art forms and encouraging cultural preservation
c Exclusively targeting the corporate market for high-end products

D Reducing government intervention in the handicraft sector

E None of the above

Correct Answer B

Marks 1



Question Description When planning an exhibition for handicrafts and handlooms, which of the following is a critical factor to consider for attracting the

right audience?

A The location's proximity to tourist spots

B The availability of discount coupons for visitors

c The selection of a venue that aligns with the target market and the theme of the exhibition
D Free entry for all visitors

E None of the above

Correct Answer C

Marks 1



10 Question Description What is the primary purpose of regular maintenance of handloom equipment?

A To increase production speed
B To enhance fabric quality
c To reduce labor costs
D To extend equipment lifespan
E None of the above
Correct Answer D
Marks 1
11 Question Description Which technique involves the use of a supplementary weft to create intricate patterns on the fabric?
A Ikat
B Jamdani
c Brocade
D Tapestry
E None of the above
Correct Answer B

Marks 1



12 Question Description In the context of textile fibers, what is the primary distinguishing feature between staple fibers and filament fibers?

A Length
B Strength
c Elasticity
D Luster
E None of the above
Correct Answer A
Marks 1
13 Question Description Which process in textile manufacturing involves the application of a chemical finish to improve fabric resistance to

wrinkling and creasing?

A Singeing

B Mercerization

c Sanforizing

D Resin finishing

E None of the above
Correct Answer D

Marks 1



14" Question Description Which government initiative aims to support the socio-economic development of handloom and handicraft artisans in India?

A Make in India
B PMGDISHA (Pradhan Mantri Gramin Digital Saksharta Abhiyan)
c National Handicrafts Development Program (NHDP)
D Digital India
E None of the above
Correct Answer C
Marks 1
15 Question Description Which of the following is an important practice for maintaining documentation in an office environment?
A Storing all documents in physical format only
B Implementing a clear filing and indexing system
c Allowing unstructured storage of documents for flexibility
D Not keeping copies of financial records
E None of the above
Correct Answer B

Marks 1



16

17

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which of the following methods is most effective for preserving traditional handloom weaving techniques while enhancing the

skills of artisans in India?

Online tutorials and e-learning platforms

Apprenticeship and mentorship under experienced artisans
Simulation-based training using digital tools

Classroom-based theoretical training on modern weaving techniques

None of the above

Under the PM Vishwakarma Scheme, which of the following is eligible to receive financial assistance?
Artisans involved in non-traditional crafts only

All artisans who have been practicing traditional crafts for at least 5 years

Individuals with a formal degree in handicrafts

Only self-employed artisans who do not have any formal education

None of the above



18 Question Description Which of the following supervisory skills is most critical for improving productivity in handloom and handicraft production centers

in India?
A Delegation of responsibilities
B Conflict resolution
c Time management and production scheduling
D Market analysis and sales forecasting
E None of the above
Correct Answer C
Marks 1
19 Question Description What is the primary objective of fabric inspection during quality control in textile production?
A To check for color consistency only
B To measure the fabric's durability
c To detect and identify fabric defects such as holes, stains, and weaving irregularities
D To determine the fabric's weight
E None of the above
Correct Answer C

Marks 1



20 Question Description Which of the following is the primary challenge faced by handloom and handicraft production centers in India when adopting

modern technology?

A High cost of traditional materials
B Resistance to change from artisans
c Lack of skilled artisans
D Over-dependence on foreign markets
E None of the above
Correct Answer B
Marks 1
21" Question Description What is the primary characteristic of the Ikat weaving technique?
A Use of a single color
B Use of multiple colors
c Use of resist-dyeing before weaving
D Use of a single weft thread
E None of the above
Correct Answer C

Marks 1



22 Question Description Which of the following strategies is most effective for promoting handicrafts through public events?

A Focusing only on product sales without engaging the audience
B Including live demonstrations of handicraft techniques and engaging artisans in storytelling
c Offering large discounts on products without any emphasis on the artisan's story
D Limiting the event to local artisans only and not opening it to a broader audience
E None of the above
Correct Answer B
Marks 1
23 Question Description Which of the following schemes is designed to enhance the infrastructure and provide financial support to the handloom sector in
India?
A Pradhan Mantri Mudra Yojana
B Handloom Mark Scheme
c National Handloom Development Programme (NHDP)
D Pradhan Mantri Kaushal Vikas Yojana
E None of the above
Correct Answer C

Marks 1



24 Question Description Which of the following strategies can enhance the global competitiveness of handloom and handicraft production centers while

preserving traditional craftsmanship?

A Limiting production to only traditional designs
B Reducing the involvement of technology in the production process
c Enhancing design innovation while maintaining traditional techniques
D Avoiding e-commerce platforms and international trade fairs
E None of the above
Correct Answer C
Marks 1
25 Question Description Which of the following is NOT a characteristic of handloom weaving?
A High production speed
B Flexibility in design
c Low initial investment
D Manual operation
E None of the above
Correct Answer A

Marks 1



26

27

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Which government scheme supports the marketing of handicrafts and handlooms and aims to provide access to national and

international markets for artisans in India?

Design Development and Market Promotion Scheme

Swachh Bharat Abhiyan

National Rural Employment Guarantee Scheme

Pradhan Mantri Awas Yojana

None of the above

A
1

Which of the following is NOT a common maintenance task for handloom equipment?

Cleaning the loom

Lubricating moving parts

Replacing worn-out parts

Increasing the tension of the warp yarn

None of the above



28 Question Description Which Indian weaving technique involves the use of extra weft threads to create raised patterns, commonly seen in textiles such as

Banarasi and Kanjivaram sarees?

A Jacquard Weaving
B Ikat Weaving
c Brocade Weaving
D Dobby Weaving
E None of the above
Correct Answer C
Marks 1
29 Question Description Which of the following is the primary objective of organizing exhibitions for handicrafts and handlooms?
A To promote international trade only
B To provide a platform for artisans to showcase their work and connect with buyers
c To create a tourism-based attraction
D To provide government subsidies to artisans
E None of the above
Correct Answer B

Marks 1



30 Question Description Which type of handloom is most suitable for weaving fine, lightweight fabrics?

A Pit loom

B Frame loom

c Jacquard loom

D Dobby loom

E None of the above
Correct Answer B

Marks 1



31" Comprehension Read the passage below and answer the Questions:
Climate change is one of the most pressing issues of our time. Rising global temperatures, changing weather patterns,
and the melting of polar ice caps are clear indicators that the Earth’s climate is changing. While human activity, such as
deforestation and burning fossil fuels, is a major contributor, natural factors like volcanic eruptions and solar radiation

also play a role. It is essential that countries collaborate to mitigate the effects of climate change.

Question Description What is one indicator of climate change mentioned in the passage?
A Higher birth rates

B Rising global temperatures

(] Increasing rainfall

D Higher oxygen levels

E None of the above

Correct Answer B

Marks 1



32 Comprehension Read the passage below and answer the Questions:
Climate change is one of the most pressing issues of our time. Rising global temperatures, changing weather patterns,
and the melting of polar ice caps are clear indicators that the Earth’s climate is changing. While human activity, such as
deforestation and burning fossil fuels, is a major contributor, natural factors like volcanic eruptions and solar radiation

also play a role. It is essential that countries collaborate to mitigate the effects of climate change.

Question Description Which human activities contribute to climate change?
A Planting trees

B Deforestation and burning fossil fuels

C Recycling waste

D Conservation efforts

E None of the above

Correct Answer B

Marks 1



33 Comprehension Read the passage below and answer the Questions:
Climate change is one of the most pressing issues of our time. Rising global temperatures, changing weather patterns,
and the melting of polar ice caps are clear indicators that the Earth’s climate is changing. While human activity, such as
deforestation and burning fossil fuels, is a major contributor, natural factors like volcanic eruptions and solar radiation

also play a role. It is essential that countries collaborate to mitigate the effects of climate change.

Question Description Which natural factors contribute to climate change?
A Volcanic eruptions and solar radiation

B Human consumption of resources

Cc Overpopulation

D Deforestation

E None of the above

Correct Answer A

Marks 1



34 Comprehension Read the passage below and answer the Questions:
Climate change is one of the most pressing issues of our time. Rising global temperatures, changing weather patterns,
and the melting of polar ice caps are clear indicators that the Earth’s climate is changing. While human activity, such as
deforestation and burning fossil fuels, is a major contributor, natural factors like volcanic eruptions and solar radiation

also play a role. It is essential that countries collaborate to mitigate the effects of climate change.

Question Description What is crucial for addressing climate change, according to the passage?
A Individual efforts only

B Collaboration between countries

C Ignoring the issue

D Scientific discoveries

E None of the above

Correct Answer B

Marks 1



35 Comprehension Read the passage below and answer the Questions:
Climate change is one of the most pressing issues of our time. Rising global temperatures, changing weather patterns,
and the melting of polar ice caps are clear indicators that the Earth’s climate is changing. While human activity, such as
deforestation and burning fossil fuels, is a major contributor, natural factors like volcanic eruptions and solar radiation
also play a role. It is essential that countries collaborate to mitigate the effects of climate change.

Question Description What does the passage suggest about the role of human activities in climate change?
A They have no impact

B They are the sole cause

C They contribute significantly to climate change

D They can reverse climate change

E None of the above

Correct Answer C

Marks 1



36 comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Identify the word or phrase from the passage that implies “ continuous or recurring conduct of business”
A international court

B army or navy in the civilized world

c perpetual session

D carry its judgement into effect

E None of the above

Correct Answer C

Marks 1



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Find a phrase that means “sending shot and shell crashing through bodies of men!”
firing bullets and lobbing grenades

shooting arrows in the dark

firing bullets and shooting water hoses

bombing unarmed men

None of the above

A
1



38 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Which of the following is implied by “its” in the statement “the military force is expected to carry the its judgement into
effect”

the government of the day
the civilized world
Christendom

the international court

None of the above



39 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

The passage implies that the only task or function for the forces in a civilized world should be only

to impeach the governments that defy the international courts

to ensure that the court is in perpetual session
to effectively implement the decisions of the international court
to make sure that the rest of Christendom is disarmed

None of the above

C
1



40 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions given below it:-

If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

No man has imagination enough to paint the agonies, the horrors, and cruelties of war.” This sentence can be correctly
re-written as

Every man lacks adequate imagination not to paint the agonies, the horrors, and cruelties of war.

All men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.
Some men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.
All men do not lack the imagination enough to paint the agonies, the horrors, and cruelties of war.

None of the above



41 Question Description Which state will establish India’s first Al university?

A Karnataka
B Tamil Nadu
C Guijarat
D Maharashtra
E None of the above
Correct Answer D
Marks 1
42 Question Description Which city has been announced as the second capital of Assam?
A Dibrugarh
B Guwahati
(] Jorhat
D Tezpur
E None of the above
Correct Answer A

Marks 1



43

44

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who has been appointed as the new BCCI Secretary?

Jay Shah

Prabhtej Singh Bhatia

Sourav Ganguly

Devajit Saikia

None of the above

In which state has the WhatsApp-based governance platform ‘Mana Mitra' been launched?

Maharashtra

Tamil Nadu

Karnataka

Andhra Pradesh

None of the above



45 Question Description Where was the Sci-Fi Science Film Festival of India inaugurated in 20257

A Mumbai
B Panaji
C Bangalore
D Pune
E None of the above
Correct Answer B
Marks 1
46 Question Description What was the theme for Republic Day 20257
A Unity in Diversity
B Golden India: Heritage and Progress
C Vibrant India: Growth and Harmony
D India@75: Glory and Aspirations
E None of the above
Correct Answer B

Marks 1



47

48

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Who recently became India's top-ranked chess player and 4th globally in the FIDE rankings?

Viswanathan Anand

Arjun Erigaisi

D Gukesh

Praggnanandhaa

None of the above

C
1

When is World Radio Day celebrated?

January 25

February 10

February 13

March 5

None of the above



49 Question Description Until which year has the Jal Jeevan Mission (JJM) been extended?

A 2025

B 2026

Cc 2030

D 2028

E None of the above
Correct Answer D

Marks 1

50 Question Description How many new languages have been added to the Lok Sabha translation service?

A 4

B 5

Cc 6

D 7

E None of the above
Correct Answer Cc

Marks 1



51 i ioti . . . .
Question Description Find the word that names a necessary part of the underlined word vibration

motion
electricity
science

sound

m O O W >

None of the above

Correct Answer A

Marks 1



52 Question Description Statement: "The recent increase in crime rates is primarily due to a lack of adequate policing." Conclusion:

1. The government needs to increase the number of police officers.

2. The increase in crime is directly correlated with the number of police officers.

A Only conclusion 1 is valid.
B Only conclusion 2 is valid.
c Both conclusions are valid.
D Neither conclusion is valid.
E None of the above

Correct Answer A

Marks 1



53

Question Description

Correct Answer

Marks

Read the below passage carefully and answer the question:

Some groups want to outlaw burning the flag. They say that people have fought and died for the flag and that citizens of the United
States ought to respect that. But [ say that respect cannot be leg-islated. Also, most citizens who have served in the military did not
fight for the flag, they fought for what the flag represents. Among the things the flag represents is freedom of speech, which
includes, I believe, the right for a citizen to express displeasure with the government by burning the flag in protest.

Which of the following is similar to the argument made by the speaker?
The rich should not be allowed to "buy" politicians, so the Congress should enact campaign finance reform.

The idea of freedom of religion also means the right not to participate in religion, so mandated school prayer violates freedom of
religion.

The Constitution guarantees freedom to own property, so taxes should be illegal.
Convicted felons should not have their convictions overturned on a technicality.

None of the above



54 Question Description Statement: "Zestfully X promotes healthy living." Assumptions:

I. People are concerned about healthy living.
. II. Zestfully X is effective in promoting healthy living.

A Only I is implicit,

B Only 1II is implicit,

c Both I and II are implicit
D Neither I nor II is implicit
E None of the above

Correct Answer C

Marks 1



55 Question Description Which of the following completes the series?
4,13,40, 121,364,

A 1093

B 1024

c 1125

D 1300

E None of the above
Correct Answer A

Marks 1



In the guestion, a piece of paper is folded and cut as shown below in the questions figures.

56 . e
Question Description From the given option figures, which one indicates how it will appear when opened.

. S y ’
A =
OOO & | &
o A r=i &
[®) & =4
- | &
QQ_ ~_ | -~

A A
B B
c C
D D
E None of the above
Correct Answer C

Marks 1



57 Question Description Statement: "The government should increase the tax rate for the rich to address income inequality." Argument:
A) Higher taxes on the rich would generate more revenue for social programs.
B) Higher taxes on the rich will lead to reduced economic growth.

Which argument is stronger?

A Argument A

B Argument B

c Both arguments are valid
D Neither argument is valid
E None of the above
Correct Answer A

Marks 1



58

Question Description

Correct Answer

Marks

What number should replace the question mark?

AVIATOR =6
FIXTURE =9
WIZARDS =1
DIVERSE =7?

None of the above



59 Question Description Statement: "If the train is delayed, I will be late." Judgment:

A If T am late, the train is delayed.
B The train causes my lateness.
c I will be late if the train is delayed.
D The train delay is irrelevant to my lateness.
E None of the above
Correct Answer C
Marks 1
60 Question Description In an artificial language, "KOR" means "food," "TOR" means "water," and "NOR" means "fire." What is the meaning of "KOR
TOR"?
A Food water
B Water fire
c Food fire
D Water food
E None of the above
Correct Answer A

Marks 1



61 Question Description Here are some words translated from an artificial language.You need to translate an English word into the artificial language.

godabim means kidney stones
romzbim means kidney beans

romzbako means wax beans

Which word could mean "wax statue"?

A godaromz

B lazbim

c wasibako

D romzpeo

E None of the above
Correct Answer C

Marks 1



62 Question Description Statement: "If we invest in renewable energy sources, we can reduce our carbon footprint." Argument:
A) Renewable energy sources are expensive to implement.

B) Renewable energy is key to reducing long-term environmental damage.

Which argument is stronger?

A Argument A

B Argument B

c Both arguments are valid
D Neither argument is valid
E None of the above
Correct Answer B

Marks 1



63 Question Description Rain is to cloud as fire is to:

A Smoke
B Ash
c Heat
D Wood
E None of the above
Correct Answer A
Marks 1
64 Question Description What is an essential part of a bicycle?
A Bell
B Chain
c Basket
D Headlight
E None of the above
Correct Answer B

Marks 1



65 Question Description Find the odd one out:

A Piano
B Guitar
c Violin
D Flute
E None of the above
Correct Answer D
Marks 1
66 Question Description Which part is essential for a book to be understood?
A Title
B Pages
c Content
D Cover
E None of the above
Correct Answer C

Marks 1



67 Question Description _ _ . : :
Selecta suitable figure fromthe four alternatives thatwould complete the figure matrix.

O1
<P
o(@r

OO O

(1) (2) (3) (9

2Oy
(@
2

RIS

A 1

B 2

c 3

D 4

E None of the above
Correct Answer A

Marks 1



68 Question Description Given that there are 30 days in April, the ratio of rainy days to sunny days during the month of April could not be

A 5:3
B 3:2
Cc 5:1
D 4:1
E None of the above
Correct Answer A
Marks 1
69 Question Description Statement: "The company's profits have increased since implementing the new advertising campaign." Judgment:
A The increase in profits is solely due to the new campaign.
B The increase in profits is unrelated to the new campaign.
c The new campaign may have contributed to the increase in profits.
D The company should stop advertising to maintain profits.
E None of the above
Correct Answer C

Marks 1



70 Question Description Find the relationship:

MOUSE : CHEESE :: CAT : ?

A Dog
B Milk
c Fish
D Mouse
E None of the above
Correct Answer C
Marks 1
71 Question Description A27,B4Y, C6X, D8W, ?
A E10V
B E11V
(@ F10U
D E10U
E None of the above
Correct Answer A

Marks 1



72 Question Description What will be the 6th term in the series?

Z, W, T,Q,N,
A K
B L
Cc M
D (0]
E None of the above
Correct Answer A

Marks 1



3 Question Description Directions: Study the following information carefully and answer the questions given beside:

There are seven 3-digit numbers as given below:

325 618 378 461 782 562 213

If the 1%t and 3™ digits of all numbers are interchanged, then what will be the sum of the product of 1°t and 3" digits of the
lowest number and the product of 1%t and 3" digits of the highest number?

A 24

B 30

c 22

D 28

E None of the above
Correct Answer D

Marks 1



74 Question Description Which word matches the following definition: "A large destructive wave caused by an earthquake."

A Tsunami
B Cyclone
c Tornado
D Earthquake
E None of the above
Correct Answer A
Marks 1
75 Question Description A person is looking at a picture of someone. A friend asks, "Who are you looking at?" The person replies, "Brothers and sisters, I

have none. But the father of the person in the picture is my father’s son." Who is in the picture?

A The person’s son

B The person’s father
(¢ The person

D The person’s brother
E None of the above
Correct Answer C

Marks 1



